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. (a+b)(a%—-ab+b?)

() B3 (i) (a3+b3) (i) (a3+4b3) (iv) (2a3+b3) (V)

. Evaluate :9902 — 102

(a3-b3)

(i) 98000 (ii) 980010 (iii)) 980000 (iv) 9800000 (v) 980990

2 2
. The value of499-3 ><499-3 is

5 7 7
(i) 249666-9 (i) 24966611 (iii) 249667 (iv) 249666-9

. If(a+b)=11,ab=30, find (a2 + b?)

(i) 59 (ii) 60 (iii)) 62 (iv) 64 (v) 61

1 1
— H 2 [

. If(x+—)—4,f|ndthevalueof( x° + 2)

X X

(i) 13 (ii) 15 (iii) 12 (iv) 17 (v) 14

2
1
. Expand ( x — —
(x-2)
1 1 1
() o= 24— (i) x2= 2+ — (i) £2+ 1+

. (5a-b)(5a+0b)

(V) x2= 54+ — (v) x2— 3+

(i) (25a2-b2) (ii) (25a%+b2) (iii) (24a2—b2) (iv) (2682—b2) (v) (258°2—4b2)

. (a+b)(a-»b)

(i) (a%2+2b2) (i) (2a2—=b2) (i) (a%2=3b2) (iv) (a2—=b2) (v) (=b?)

2 2
. The value of898-§ ><898-3; is

5 7 7
(i) 807602 (ii) 8076015 (iii) 8076015 (iv) 807601ﬁ



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

1 1
The value of81 -3 X 81 3 is

. 1 8 . 1 ) 1 1
(i) 6615— (ii) 6614 — (iii) 6615 (iv) 6615— (v) 6615-
3 9 11 9 7

2
(a+b)

(i) (a2+2ab+b?%) (i) (2a%+2ab+b2) (i) (a®+4ab+b2) (iv) (2ab+b2) (v) (a2+b?)

2 3 4 9
(-—a-"b)(-a2—ab+-b2)
3279 4

., 8 327 3 . 8 3293 . 8 3 27 3 8 3 3 B _ 3
(l)(27a 8b)(n)(27a sb)('“)(zsa 8b)(lV)(zga b2) (v) ( a 8b)

If(a+b)=6,ab=8, find(a*+b%)
(i) 272 (i) 269 (iii) 273 (iv) 275 (v) 271

The value of 505 X 495 is
(i) 249977 (ii) 249973 (iii) 249974 (iv) 249975 (v) 249976

The value of 3 X3 is

(i) 8 (ii) 9 (iii)) 12 (iv) 6 (v) 10

2
(=2a+3b)

(i) (482—14ab+9b%) (ii) (5a2—12ab+9b%) (i) (3a2—12ab+9b2) (iv) (4a%°—-10ab+9b?)
(v) (4a2-12ab+9b%)

3 9 9
(—3a——b)(9a2—-=ab+-b2)

2 277"y

(i) (—28a3—-287b3) (ii) (—27a3—-289b3) (iii) (—27a3—285b3) (iv) (—27a3—287b3) (v) (—26a3—-287b3)

If(6a+5b)=40 ,ab=10 , find(36a2 +25b2)

(i) 997 (ii) 1000 (iii) 1002 (iv) 999 (v) 1001

1 1 1
Expand( x — - X+ X+
pand ( ) ( ) ( 5)
X X X
2 1 1 1 8§ 4 4
() = x= — = — (i) xT— — (i) X+ X+ x+— (V) 4x°+ 8x+ Ax°+ — +— +
3 7 4 37 s



20.

21.

22.

23.

24,

25.

Expand(x— 1)(x+ 1)( X%+ 1)

i) o+ x4+ x4 X2 (i) = 2x5= 2x (i) xT= 1 (v) 4x°+ T+ ax"+ 7x°+ 3x+ 3
1 , 2
If( x— - =3 ,find the value of ( x + -
( X) ( X4)

(i) 119 (ii) 116 (iii) 118 (iv) 122 (v) 120

(3a+5b)(9a2-15ab+25b2)

(i) (26a3+125b3) (i) (27a3+125b3) (iii) (28a3+125b3) (iv) (27a3+128b63) (v) (27a3+123b3)

2
(a—b)

(i) (a2=2ab+b?%) (i) (2a%2-2ab+b?) (i) (=2ab+b?%) (iv) (a2—4ab+b%) (v) (a2+ab+b?)

1 1
. 2
|f(6x— )_2,ﬂmjmevameof(36x + 2)
3x 9x

(i) 7 (i) 9 (i) 10 (iv) 8 (v) 5
(2a+-3b—-2c)(4a2—3ab+-4ac+-9b2+bc+-4c2)
2 3 3 4 9

27 8 27 8 27 8
(i) (8a3+8abc+—b3——c3) (ii) (9a3+6abc+—b3——-c3) (iii) (8a3+6abc+—b3——c3)
8 27 8 27 8 27

8

c3)
27

27 8 27
Uv)(8a3+3abc+-8b3—é7c3)(v)(7a3+6abc+-8b3—



Assignment Key

1) (i) 2) (iii) 3) (iv) 4) (v) 5) (v) 6) (ii)
7) (i) 8) (iv) 9) (iii) 10) (iv) 11) (i) 12) (i)
13) (i) 14) (iv) 15) (ii) 16) (v) 17) (iv) 18) (ii)
19) (ii) 20) (iii) 21) (i) 22) (ii) 23) (i) 24) (iv)
25) (iii)
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